REF	ITEM	QUANTITY	UNIT	DESCRIPTION	EST. UNIT	EST.	AXIS CIVIL CONSTRUCTION LLC			ALAN STON	E CO INC		BUD'S INC			
NO.	NO.				COST	COST	UNIT \$	COST	+/- EST	UNIT \$	COST	+/- EST	UNIT \$	COST	+/- EST	
1	201	1	LUMP	CLEARING AND GRUBBING	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	\$4,000.00	\$3,500.00	\$3,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$1,500.00	
2	202	1		STRUCTURE REMOVED	\$10,000.00		\$12,000.00	\$12,000.00	\$2,000.00		\$7,000.00	(\$3,000.00)	\$10,000.00	\$10,000.00	\$0.00	
3	202	184		PAVEMENT REMOVED, ASPHALT	\$16.75	\$3,081.46	\$14.00	\$2,576.00	(\$505.46)	\$4.00	\$736.00	(\$2,345.46)	\$25.00	\$4,600.00	\$1,518.54	
4	202	36	FT	PIPE REMOVED, 24" AND UNDER	\$26.70	\$961.23	\$20.00	\$720.00	(\$241.23)	\$10.00	\$360.00	(\$601.23)	\$35.00	\$1,260.00	\$298.77	
5	202	493	FT	GUARDRAIL REMOVED	\$1.94	\$956.70	\$4.00	\$1,972.00	\$1,015.30	\$2.00	\$986.00	\$29.30	\$2.00	\$986.00	\$29.30	
6	203	293	CY	EXCAVATION	\$23.68	\$6,938.48	\$21.00	\$6,153.00	(\$785.48)	\$12.50	\$3,662.50	(\$3,275.98)	\$18.00	\$5,274.00	(\$1,664.48)	
7	203	107	CY	EMBANKMENT	\$21.88	\$2,341.47	\$21.00	\$2,247.00	(\$94.47)	\$10.50	\$1,123.50	(\$1,217.97)	\$18.00	\$1,926.00	(\$415.47)	
8	204	255	SY	SUBGRADE COMPACTION	\$3.52	\$897.81	\$3.00	\$765.00	(\$132.81)	\$2.50	\$637.50	(\$260.31)	\$3.00	\$765.00	(\$132.81)	
9	204	50	CY	EXCAVATION OF SUBGRADE: CONTINGENCY	\$21.17	\$1,058.65	\$21.00	\$1,050.00	(\$8.65)	\$36.00	\$1,800.00	\$741.35	\$18.00	\$900.00	(\$158.65)	
10	204	50	CY	GRANULAR MATERIAL, TYPE F: CONTINGENCY	\$55.00	\$2,750.00	\$62.00	\$3,100.00	\$350.00	\$80.00	\$4,000.00	\$1,250.00	\$40.00	\$2,000.00	(\$750.00)	
11	204	1		PROOF ROLLING	\$156.74	\$156.74	\$150.00	\$150.00	(\$6.74)	\$250.00	\$250.00	\$93.26	\$50.00	\$50.00	(\$106.74)	
12	204	150	SY	GEOTEXTILE FABRIC: CONTINGENCY	\$2.56	\$383.73	\$1.50	\$225.00	(\$158.73)	\$2.00	\$300.00	(\$83.73)	\$1.50	\$225.00	(\$158.73)	
13	606	331.25	FT	GUARDRAIL, TYPE MGS	\$19.04	\$6,306.05	\$18.50	\$6,128.13	(\$177.92)	\$22.00	\$7,287.50	\$981.45	\$18.50	\$6,128.13	(\$177.92)	
14	606	9	FT	GUARDRAIL, TYPE MGS WITH SOCKETED POSTS	\$130.00	\$1,170.00	\$140.00	\$1,260.00	\$90.00	\$180.00	\$1,620.00	\$450.00	\$140.00	\$1,260.00	\$90.00	
15	606	43.75	FT	GUARDRAIL, TYPE MGS, LONG SPAN	\$22.73	\$994.35	\$24.00	\$1,050.00	\$55.65	\$35.00	\$1,531.25	\$536.90	\$24.00	\$1,050.00	\$55.65	
16	606	1	EACH	ANCHOR ASSEMBLY, MGS TYPE A	\$1,154.37	\$1,154.37	\$1,550.00	\$1,550.00	\$395.63		\$1,900.00	\$745.63	\$1,550.00	\$1,550.00	\$395.63	
17	606	3		ANCHOR ASSEMBLY, MGS TYPE T	\$913.44	\$2,740.32	\$900.00	\$2,700.00	(\$40.32)	\$1,100.00	\$3,300.00	\$559.68	\$900.00	\$2,700.00	(\$40.32)	
18	601	97	CY	ROCK CHANNEL PROTECTION, TYPE B WITH FILTER	\$81.94	\$7,947.92	\$80.00	\$7,760.00	(\$187.92)	\$80.00	\$7,760.00	(\$187.92)	\$97.00	\$9,409.00	\$1,461.08	
19	616	0.9		WATER	\$31.96	\$28.76	\$1.00	\$0.90	(\$27.86)	\$1.00	\$0.90	(\$27.86)	\$1.00	\$0.90	(\$27.86)	
20	616	0.1	TON	CALCIUM CHLORIDE	\$39.25	\$3.92	\$100.00	\$10.00	\$6.08	\$600.00	\$60.00	\$56.08	\$1.00	\$0.10	(\$3.82)	
21	659	20	CY	TOPSOIL	\$75.72	\$1,514.34	\$40.00	\$800.00	(\$714.34)	\$50.00	\$1,000.00	(\$514.34)	\$25.00	\$500.00	(\$1,014.34)	
22	659	939	SY	SEEDING AND MULCHING	\$3.46	\$3,250.81	\$1.30	\$1,220.70	(\$2,030.11)	\$3.00	\$2,817.00	(\$433.81)	\$2.50	\$2,347.50	(\$903.31)	
23	659	47	SY	REPAIR SEEDING AND MULCHING	\$1.03	\$48.57	\$2.00	\$94.00	\$45.43	\$10.00	\$470.00	\$421.43	\$0.05	\$2.35	(\$46.22)	
24	659	0.08	TON	COMMERCIAL FERTILIZER	\$901.81	\$72.14	\$500.00	\$40.00	(\$32.14)	\$600.00	\$48.00	(\$24.14)	\$600.00	\$48.00	(\$24.14)	
25	659	0.2		LIME	\$226.86	\$45.37	\$300.00	\$60.00	\$14.63	\$850.00	\$170.00	\$124.63	\$300.00	\$60.00	\$14.63	
26	659	5		WATER	\$2.01	\$10.06	\$10.00	\$50.00	\$39.94	\$1.00	\$5.00	(\$5.06)	\$1.00	\$5.00	(\$5.06)	
27	832	806		EROSION CONTROL	\$1.00	\$806.00	\$1.00	\$806.00	\$0.00	\$1.00	\$806.00	\$0.00	\$0.50	\$403.00	(\$403.00)	
28	611	50		6" CONDUIT, TYPE C: CONTINGENCY	\$29.43	\$1,471.32	\$6.00	\$300.00	(\$1,171.32)	\$10.00	\$500.00	(\$971.32)	\$3.00	\$150.00	(\$1,321.32)	
29	611	50	FT	6" CONDUIT, TYPE F: CONTINGENCY	\$19.44	\$972.00	\$6.00	\$300.00	(\$672.00)	\$10.00	\$500.00	(\$472.00)	\$3.00	\$150.00	(\$822.00)	
30	611	50	FT	8" CONDUIT, TYPE F: CONTINGENCY	\$19.52	\$976.09	\$7.00	\$350.00	(\$626.09)	\$11.00	\$550.00	(\$426.09)	\$5.00	\$250.00	(\$726.09)	
31	611	50	FT	12" CONDUIT, TYPE B: CONTINGENCY	\$85.61	\$4,280.49	\$22.00	\$1,100.00	(\$3,180.49)	\$12.00	\$600.00	(\$3,680.49)	\$6.00	\$300.00	(\$3,980.49)	
32	611	50	FT	12" CONDUIT, TYPE F: CONTINGENCY	\$67.51	\$3,375.68	\$22.00	\$1,100.00	(\$2,275.68)	\$12.00	\$600.00	(\$2,775.68)	\$6.00	\$300.00	(\$3,075.68)	
33	611	1	EACH	PRECAST REINFORCED CONCRETE OUTLET: CONTINGENCY	\$285.13	\$285.13	\$350.00	\$350.00	\$64.87	\$300.00	\$300.00	\$14.87	\$140.00	\$140.00	(\$145.13)	
34	611	36	FT	CONDUIT, MISC.: 11" x 6' CONDUIT TYPE A, 706.05	\$1,700.00	\$61,200.00	\$1,550.00	\$55,800.00	(\$5,400.00)	\$1,400.00	\$50,400.00	(\$10,800.00)	\$1,865.00	\$67,140.00	\$5,940.00	
35	301	29	CY	ASPHALT CONCRETE BASE, PG64-22	\$322.49	\$9,352.34	\$280.00	\$8,120.00	(\$1,232.34)	\$363.00	\$10,527.00	\$1,174.66	\$275.00	\$7,975.00	(\$1,377.34)	
36	304	96	CY	AGGREGATE BASE	\$105.56	\$10,133.95	\$80.00	\$7,680.00	(\$2,453.95)	\$64.50	\$6,192.00	(\$3,941.95)	\$92.00	\$8,832.00	(\$1,301.95)	
37	407	73		TACK COAT	\$2.25	\$164.56	\$4.00	\$292.00	\$127.44	\$2.50	\$182.50	\$17.94		\$135.05	(\$29.51)	
				STABILIZED CRUSHED AGGREGATE, AS PER PLAN:			<b>V</b> 1100	<del>+</del> 202.00	Ψ.=	ψ2.00	ψ.ο <u>σ.οσ</u>	ψσ.	<b>V.1.00</b>	<b>V.00.00</b>	(420.0.1)	
38	411	24	CY	CRUSHED LIMESTONE	\$100.00	\$2,400.00	\$90.00	\$2,160.00	(\$240.00)	\$76.50	\$1,836.00	(\$564.00)	\$130.00	\$3,120.00	\$720.00	
				ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG64-			ψου.σο	ψ=,.σσ.σσ	(+= :0:00)	ψ. σ.σσ	ψ.,σσσ.σσ	(\$5555)	<b>V.55.55</b>	ψο,	Ţ. <u>20.00</u>	
39	441	30	CY	22	\$345.40	\$10,361.87	\$300.00	\$9,000.00	(\$1,361.87)	\$376.00	\$11,280.00	\$918.13	\$285.00	\$8,550.00	(\$1,811.87)	
							Ψ000.00	ψο,σσσ.σσ	(φ1,001.01)	ψο, σ.σσ	Ψ11,200.00	ψο τοι το	ψ <u>2</u> 30.00	ψο,σσσ.σσ	(ψ1,011.01)	
40	441	10	CY	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 2,, (448)	\$132.84	\$1,328.38	\$300.00	\$3,000.00	\$1,671.62	\$370.00	\$3,700.00	\$2,371.62	\$280.00	\$2,800.00	\$1,471.62	
41	503	1	LUMP	COFFERDAMS AND EXCAVATION BRACING	\$10,000.00	\$10,000.00	\$8,500.00	\$8,500.00	(\$1,500.00)	\$6,000.00	\$6,000.00	(\$4,000.00)	\$5,000.00	\$5,000.00	(\$5,000.00)	
42	503	1		UNCLASSIFIED EXCAVATION			\$10,000.00	\$10,000.00		\$4,000.00	\$4,000.00	(\$6,000.00)	\$4,500.00	\$4,500.00	(\$5,500.00)	
43	509	7,390	LB	EPOXY COATED REINFORCING STEEL	\$1.81	\$13,406.27	\$1.90	\$14,041.00	\$634.73	\$2.00	\$14,780.00	\$1,373.73	\$1.35	\$9,976.50	(\$3,429.77)	
		·		CLASS QC1 CONCRETE, RETAINING/WINGWALL NOT			<b>\$</b>	Ţ. 1,0 1 1.00	Ψ001.70	Ψ2.00	Ţ. 1,7 OO.OO	Ţ 1,01 0.1 O	<b>\$</b>	<del>+5,510.00</del>	(40, 120.11)	
44	511	18	CY	INCLUDING FOOTING	\$1,014.34	\$18,258.07	\$900.00	\$16,200.00	(\$2,058.07)	\$1,000.00	\$18,000.00	(\$258.07)	\$1,080.00	\$19,440.00	\$1,181.93	
45	511	44	CY	CLASS QC1 CONCRETE, FOOTING	\$516.92	\$22,744.26	\$410.00	\$18,040.00	(\$4,704.26)	\$620.00	\$27,280.00	\$4,535.74	\$565.00	\$24,860.00	\$2,115.74	
46	511	2	CY	CLASS QC1 CONCRETE, HEADWALL	\$1,327.09	\$2,654.18	\$900.00	\$1,800.00	(\$854.18)		\$3,600.00	\$945.82		\$5,000.00	\$2,345.82	
47	512	75	SY	SEALING OF CONCRETE SURFACES (EPOXY-URETHANE)	\$28.12	\$2,109.11	\$28.00	\$2,100.00	(\$9.11)	\$32.00	\$2,400.00	\$290.89	\$25.00	\$1,875.00	(\$234.11)	
48	512	119	SY	TYPE 2 WATERPROOFING	\$20.76	\$2,470.45	\$36.00	\$4,284.00	\$1,813.55	\$13.00	\$1,547.00	(\$923.45)	\$18.00	\$2,142.00	(\$328.45)	
49	516	40	SF	1" PREFORMED EXPANSION JOINT FILLER	\$7.86	\$314.38	\$5.00	\$200.00	(\$114.38)	\$2.00	\$80.00	(\$234.38)	\$15.00	\$600.00	\$285.62	
+3	010	_ <del>T</del> U		I THE ONWIED EN ANOION JOHN HILLEN	Ψ1.00	<u>μυ 1<del>1</del>.υυ</u>	ψυ.υυ	ΨΖ00.00	(ψ114.50)	ΨΖ.00	ψ00.00	(ΨΖυ4.υυ)	ψ10.00	ψυυυ.υυ	Ψ200.02	

REF	ITEM	QUANTITY	UNIT	DESCRIPTION	EST. UNIT	EST.	AXIS CIVIL CONSTRUCTION LLC			ALAN STONE CO INC			BUD'S INC		
NO.	NO.				COST	COST	UNIT \$	COST	+/- EST	UNIT \$	COST	+/- EST	UNIT \$	COST	+/- EST
50	518	1	LUMP	POROUS BACKFILL WITH GEOTEXTILE FABRIC	\$1,500.00	\$1,500.00	\$2,900.00	\$2,900.00	\$1,400.00	\$4,000.00	\$4,000.00	\$2,500.00	\$4,000.00	\$4,000.00	\$2,500.00
51	614	1	LUMP	MAINTAINING TRAFFIC	\$10,000.00	\$10,000.00	\$3,500.00	\$3,500.00	(\$6,500.00)	\$3,500.00	\$3,500.00	(\$6,500.00)	\$3,000.00	\$3,000.00	(\$7,000.00)
52	623	1	LUMP	CONSTRUCTION LAYOUT STAKES AND SURVEYING	\$10,000.00	\$10,000.00	\$4,200.00	\$4,200.00	(\$5,800.00)	\$5,500.00	\$5,500.00	(\$4,500.00)	\$2,500.00	\$2,500.00	(\$7,500.00)
53	624	1	LUMP	MOBILIZATION	\$8,000.00	\$8,000.00	\$12,000.00	\$12,000.00	\$4,000.00	\$17,000.00	\$17,000.00	\$9,000.00	\$10,000.00	\$10,000.00	\$2,000.00
	-	-			•										
						274,377.81		\$246,804.73	(\$27,573.09)		\$247,985.65	(\$26,392.16)		\$248,685.53	(\$25,692.29)

ITEM	QUANTITY	UNIT	DESCRIPTION	EST. UNIT	EST.	ROCK RIVE	R CONSTRUCTI	ON LTD	DARBY CREEK EXCAVATING INC			
NO.		0.411		COST	COST		UNIT \$ COST +/- EST		UNIT \$ COST		+/- EST	
201	1	LUMP	CLEARING AND GRUBBING	\$1,000.00	\$1,000.00	\$100.00	\$100.00	(\$900.00)	\$1,500.00	\$1,500.00	\$500.00	
202	1		STRUCTURE REMOVED	\$10,000.00		\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00	\$5,000.00	(\$5,000.00)	
202	184		PAVEMENT REMOVED, ASPHALT	\$16.75	\$3,081.46	\$8.00	\$1,472.00	(\$1,609.46)	\$15.00	\$2,760.00	(\$321.46)	
202	36		PIPE REMOVED, 24" AND UNDER	\$26.70	\$961.23	\$10.00	\$360.00	(\$601.23)	\$30.00	\$1,080.00	\$118.77	
202	493		GUARDRAIL REMOVED	\$1.94	\$956.70	\$4.00	\$1,972.00	\$1,015.30	\$3.00	\$1,479.00	\$522.30	
203	293		EXCAVATION	\$23.68	\$6,938.48	\$15.00	\$4,395.00	(\$2,543.48)	\$55.00	\$16,115.00	\$9,176.52	
203	107		EMBANKMENT	\$21.88	\$2,341.47	\$15.00	\$1,605.00	(\$736.47)	\$40.00	\$4,280.00	\$1,938.53	
204	255		SUBGRADE COMPACTION	\$3.52	\$897.81	\$2.50	\$637.50	(\$260.31)	\$2.00	\$510.00	(\$387.81)	
204	50		EXCAVATION OF SUBGRADE: CONTINGENCY	\$21.17	\$1,058.65	\$8.00	\$400.00	(\$658.65)	\$50.00	\$2,500.00	\$1,441.35	
204	50		GRANULAR MATERIAL, TYPE F: CONTINGENCY	\$55.00	\$2,750.00	\$46.00	\$2,300.00	(\$450.00)	\$120.00	\$6,000.00	\$3,250.00	
204	1		PROOF ROLLING	\$156.74	\$156.74	\$85.00	\$85.00	(\$71.74)	\$100.00	\$100.00	(\$56.74)	
204	150		GEOTEXTILE FABRIC: CONTINGENCY	\$2.56	\$383.73	\$3.25	\$487.50	\$103.77	\$3.00	\$450.00	\$66.27	
606	331.25		GUARDRAIL, TYPE MGS	\$19.04	\$6,306.05	\$18.50	\$6,128.13	(\$177.92)	\$20.05	\$6,641.56	\$335.51	
606	9		GUARDRAIL, TYPE MGS WITH SOCKETED POSTS	\$130.00	\$1,170.00	\$140.00	\$1,260.00	\$90.00	\$155.00	\$1,395.00	\$225.00	
606	43.75		GUARDRAIL, TYPE MGS, LONG SPAN	\$22.73	\$994.35	\$24.00	\$1,050.00	\$55.65	\$26.50	\$1,159.38	\$165.02	
606	1	EACH	ANCHOR ASSEMBLY, MGS TYPE A	\$1,154.37	\$1,154.37	\$1,550.00	\$1,550.00	\$395.63	\$1,705.00	\$1,705.00	\$550.63	
606	3	EACH	ANCHOR ASSEMBLY, MGS TYPE T	\$913.44	\$2,740.32	\$900.00	\$2,700.00	(\$40.32)	\$1,000.00	\$3,000.00	\$259.68	
601	97	CY	ROCK CHANNEL PROTECTION, TYPE B WITH FILTER	\$81.94	\$7,947.92	\$95.00	\$9,215.00	\$1,267.08	\$125.00	\$12,125.00	\$4,177.08	
616	0.9	MGAL	WATER	\$31.96	\$28.76	\$56.00	\$50.40	\$21.64	\$1.00	\$0.90	(\$27.86)	
616	0.1	TON	CALCIUM CHLORIDE	\$39.25	\$3.92	\$1,000.00	\$100.00	\$96.08	\$1,500.00	\$150.00	\$146.08	
659	20	CY	TOPSOIL	\$75.72	\$1,514.34	\$31.00	\$620.00	(\$894.34)	\$100.00	\$2,000.00	\$485.66	
659	939	SY	SEEDING AND MULCHING	\$3.46	\$3,250.81	\$2.00	\$1,878.00	(\$1,372.81)	\$6.00	\$5,634.00	\$2,383.19	
659	47	SY	REPAIR SEEDING AND MULCHING	\$1.03	\$48.57	\$1.00	\$47.00	(\$1.57)	\$2.00	\$94.00	\$45.43	
659	0.08	TON	COMMERCIAL FERTILIZER	\$901.81	\$72.14	\$1,250.00	\$100.00	\$27.86	\$550.00	\$44.00	(\$28.14)	
659	0.2	ACRE	LIME	\$226.86	\$45.37	\$250.00	\$50.00	\$4.63	\$250.00	\$50.00	\$4.63	
659	5		WATER	\$2.01	\$10.06	\$1.00	\$5.00	(\$5.06)	\$1.00	\$5.00	(\$5.06)	
832	806		EROSION CONTROL	\$1.00	\$806.00	\$1.00	\$806.00	\$0.00	\$3.00	\$2,418.00	\$1,612.00	
611	50		6" CONDUIT, TYPE C: CONTINGENCY	\$29.43	\$1,471.32	\$9.00	\$450.00	(\$1,021.32)	\$25.00	\$1,250.00	(\$221.32)	
611	50		6" CONDUIT, TYPE F: CONTINGENCY	\$19.44	\$972.00	\$9.00	\$450.00	(\$522.00)	\$25.00	\$1,250.00	\$278.00	
611	50		8" CONDUIT, TYPE F: CONTINGENCY	\$19.52	\$976.09	\$12.00	\$600.00	(\$376.09)	\$30.00	\$1,500.00	\$523.91	
611	50		12" CONDUIT, TYPE B: CONTINGENCY	\$85.61	\$4,280.49	\$22.00	\$1,100.00	(\$3,180.49)	\$50.00	\$2,500.00	(\$1,780.49)	
611	50	FT	12" CONDUIT, TYPE F: CONTINGENCY	\$67.51	\$3,375.68	\$13.00	\$650.00	(\$2,725.68)	\$40.00	\$2,000.00	(\$1,375.68)	
611	1	EACH	PRECAST REINFORCED CONCRETE OUTLET: CONTINGENCY	\$285.13	\$285.13	\$212.00	\$212.00	(\$73.13)	\$500.00	\$500.00	\$214.87	
611	36		CONDUIT, MISC.: 11" x 6' CONDUIT TYPE A, 706.05	\$1,700.00	\$61,200.00	\$1,630.00	\$58,680.00	(\$2,520.00)	\$1,310.00	\$47,160.00	(\$14,040.00)	
301	29		ASPHALT CONCRETE BASE, PG64-22	\$322.49	\$9,352.34	\$275.00	\$7,975.00	(\$1,377.34)	\$305.00	\$8,845.00	(\$507.34)	
304	96		AGGREGATE BASE	\$105.56	\$10,133.95	\$60.00	\$5,760.00	(\$4,373.95)	\$80.00	\$7,680.00	(\$2,453.95)	
407	73		TACK COAT	\$2.25	\$164.56	\$1.85	\$135.05	(\$29.51)	\$2.05	\$149.65	(\$14.91)	
411	24	1.0	STABILIZED CRUSHED AGGREGATE, AS PER PLAN: CRUSHED LIMESTONE	\$100.00	\$2,400.00	\$60.00	\$1,440.00	(\$960.00)	\$120.00	\$2,880.00	\$480.00	
441	30	CV	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG64- 22	\$345.40	\$10,361.87	\$285.00	\$8,550.00	(\$1,811.87)	\$315.00	\$9,450.00	(\$911.87)	
441	10	CY	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 2,, (448)	\$132.84	\$1,328.38	\$280.00	\$2,800.00	\$1,471.62	\$310.00	\$3,100.00	\$1,771.62	
503	1	LUMP	COFFERDAMS AND EXCAVATION BRACING	\$10,000.00	\$10,000.00	\$12,000.00	\$12,000.00	\$2,000.00	\$8,000.00	\$8,000.00	(\$2,000.00)	
503	1		UNCLASSIFIED EXCAVATION	\$10,000.00		\$5,500.00	\$5,500.00	(\$4,500.00)	\$5,000.00	\$5,000.00	(\$5,000.00)	
509	7,390	LB	EPOXY COATED REINFORCING STEEL	\$1.81	\$13,406.27	\$2.00	\$14,780.00	\$1,373.73	\$2.50	\$18,475.00	\$5,068.73	
511	18		CLASS QC1 CONCRETE, RETAINING/WINGWALL NOT INCLUDING FOOTING	\$1,014.34	\$18,258.07	\$800.00	\$14,400.00	(\$3,858.07)	\$1,800.00	\$32,400.00	\$14,141.93	
511	44		CLASS QC1 CONCRETE, FOOTING	\$516.92	\$22,744.26	\$600.00	\$26,400.00	\$3,655.74	\$550.00	\$24,200.00	\$1,455.74	
511	2		CLASS QC1 CONCRETE, HEADWALL	\$1,327.09	\$2,654.18	\$874.00	\$1,748.00	(\$906.18)		\$5,000.00	\$2,345.82	
512	75		SEALING OF CONCRETÉ SURFACES (EPOXY-URETHANE)	\$28.12	\$2,109.11	\$20.00	\$1,500.00	(\$609.11)	\$40.00	\$3,000.00	\$890.89	
512	119		TYPE 2 WATERPROOFING	\$20.76	\$2,470.45	\$20.00	\$2,380.00	(\$90.45)	\$30.00	\$3,570.00	\$1,099.55	
516	40	SF	1" PREFORMED EXPANSION JOINT FILLER	\$7.86	\$314.38	\$3.00	\$120.00	(\$194.38)	\$30.00	\$1,200.00	\$885.62	

ITEM	QUANTITY	UNIT	DESCRIPTION	EST. UNIT	EST.	ROCK RIVER CONSTRUCTION LTD			DARBY CREEK EXCAVATING INC		
NO.				COST	COST	UNIT \$	COST	+/- EST	UNIT \$	COST	+/- EST
518	1	LUMP	POROUS BACKFILL WITH GEOTEXTILE FABRIC	\$1,500.00	\$1,500.00	\$4,300.00	\$4,300.00	\$2,800.00	\$8,000.00	\$8,000.00	\$6,500.00
614	1	LUMP	MAINTAINING TRAFFIC	\$10,000.00	\$10,000.00	\$3,000.00	\$3,000.00	(\$7,000.00)	\$10,000.00	\$10,000.00	\$0.00
623	1	LUMP	CONSTRUCTION LAYOUT STAKES AND SURVEYING	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	(\$5,000.00)	\$4,000.00	\$4,000.00	(\$6,000.00)
624	1	LUMP	MOBILIZATION	\$8,000.00	\$8,000.00	\$20,000.00	\$20,000.00	\$12,000.00	\$10,000.00	\$10,000.00	\$2,000.00
					274,377.81		\$254,303.58	(\$20,074.24)		\$299,305.49	\$24,927.68